07+ F T @ LU F R MR T EE 10460 L 5
Wﬁﬁﬁﬁﬁ ﬁi%?;&ﬁiﬁﬁﬁ -7 40160 |

o Ev‘J :

I A%~ S — 3 A1 4%
L R
%?%W 21? R B
KL R ZENF R I éﬂfﬂg ;’-—9—;4)5%\‘3\%{5 5 XZRBERY RS AR ’é%\j l‘t’g Y SRS
TR I E R R ES R E AT o

K7 DRI I B RFLEER (2 A401-96) | 2 RTIFE o
DlO (dp=0.95cm, A, =0.72 cm) D13 (dp=1.27cm, A= 1.27 cm) D19 (dy=1.91cm, Ab—287cm)
D25 (dp= 2.54cm, Ap=5.07 cm?) D32 (d,=3.22cm, A,=8.14cm?) D36 (dp= 3.58cm, A, = 10.07 cm?)

é%i (30 4)
TR AN SR GRS R 4 SR T o A S P EEZ P o
WP XS ERL R R
S-S G SR G PR 2 ) R B R R -
B A FrglEre B4 I ETe 2 T o
- 1Wvéﬂwwwt4 1o %re 2t 45 cmx45cm ¥R R
600 tf ; & K iv* (g, g) = (20cm, Ocm)z :ﬁ,ms; 5?_ 2 ;m)i = 300 tf ; B
AR xv’*ff?(ex,ey) (20cm, 20cm)z. i~ € pF > 2 NN S

~ - ;]Efwv%'ﬂ—:”'/%%/wﬁﬂ‘ oo %rm 21 40cmx60cm > @ * 6-D25 4% 55 > D10 # ; ;]mv
5 4o@l o 0 f)=210 kgf/cm > f,=4200 kgf/cm? R T R BE e = 25em
P2 ghd B R R Phs®? (25/;)

60cm
e i >
o] \ g
i - D10
L 6-D25 | 4
40cm E
o) | d
> : >
6.5cm 6.5cm

S BAEHESRRIBE O BESM ¥ e R & b=35cm> 3 & h=65cm> F 3%
% & d=58cm> k- 26§ E w,= 10 tf/m » i % D10 §# 5 - f'= 210 kgf/em® >
f,= 4200 kgf/fen? » 3 K0Tk 4o e BT 4 SR B 335 @ 2 (204)

o~ S Fr- 4 SSR R AR EEETG R R b=30cm> % & h=60cm> F 5% & d=535cm
it * 3-D36 ff4h & > f'= 280 kgffem?® > f, = 4200 kgf/em® » 33+ 3 ik 5 71+ ¢ 4
BAEPFHEMER? (254)



